
Mathematics  Assignment Std. V 

1)Write the number name:-( use place value chart) 

 

Ten 

crore crore 

Ten 

lakh lakh 

Ten 

thousand thousand hundreds tens ones 

 

5 2 6 3 4 1 0 0 5 

 

7 6 5 0 0 0 5 6 4 

 

                  

 

Eg. 1) 52,63,41,005 - Fifty two crore sixty three lakh forty one thousand five. 

 Eg. 2) 76,50,00,564 – Seventy six crore fifty lakh five hundred sixty four. 

a) 52,27,63,507     b) 4,30,05,634  c) 54,00,00,708  d) 80,05,62,196  e) 3,90,07,054 

2)Write the numbers in figures:- ( use place value chart) 

a)Four crore seventeen lakh eight thousand four hundred twelve. 

b)Thirty four crore five thousand three hundred twenty four. 

c)Eight crore thirty four lakh five thousand eighty seven. 

d)Ninety seven crore six lakh five hundred twenty four. 

e)Sixty crore forty lakh seven thousand ninety nine. 

3) Write the place value of:- 

a) 5 in 25,37,12,864        b) 3 in 23,55,84,268       c) 8 in 39,85,04,480     d) 0 in 30,45,68,275                       

e) 7 in 2,00,70,459 

4) Write in expanded form:- 

a) 4,50,00,732= 4,00,00,000+50,00,000+700+30+2 

b) 39,05,42,708     c) 23,24,22,510    d) 67,20,23,658     e) 49,65,24,258      f) 8,00,40,06,598 

5)  Write in compact form:-  ( use place value chart) 

a)  50,00,00,000+40,00,000+6,000+70+5    b)  6,00,00,000+30,00,000+70,000+800+9 

c) 80,00,00,000+7,00,00,000+8,00,000+50+5  d)  90,00,00,000+7,000+800+90+5 

6)  Write the successor of:-       a) 89,09,09,099    b) 75,00,99,999   c) greatest seven-digit number 

7) Write the predecessor  of:-  a) 9,09,09,100       b) 89,10,10,000   c) smallest five-digit number 



8) Round off to the nearest : 

a) tens :             i) 378 ( since 8> 5, so 1 will be added to7,therefore answer is 380)                                        

ii) 823     iii) 956  

b) hundreds:      i) 4,532  ( since 32<50, so nothing will be added to 5, therefore answer is 4,500)                   

ii) 6894   iii)948 

c) thousands:     i) 5642 ( since 642 > 500, so 1 will be added to 5, therefore  answer  is 6,000)                     

ii) 7496  iii) 27563    

 


